Should the firm shut down?
If a loss is incurred, is it worthwhile to continue or best to shut down?

	Table 12.3  Deciding How Much to Produce When Price = $4

	Output: Shirts per Minute
	Fixed Cost
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	Marginal Revenue
	Marginal Cost

	0
	
	$17
	
	$0
	
	$17
	
	$0
	
	($17
	
	$4
	
	$0
	

	1
	
	17
	
	5
	
	22
	
	4
	
	(18
	
	4
	
	5
	

	2
	
	17
	
	6
	
	23
	
	8
	
	(15
	
	4
	
	1
	

	3
	
	17
	
	9
	
	26
	
	12
	
	(14
	
	4
	
	3
	

	4
	
	17
	
	13
	
	30
	
	16
	
	(14
	
	4
	
	4
	

	5
	
	17
	
	18
	
	35
	
	20
	
	(15
	
	4
	
	5
	

	6
	
	17
	
	25
	
	42
	
	24
	
	(18
	
	4
	
	7
	


The price of the shirts is $4. So the profit maximizing output level is at the point where MR = MC. This is at a level of 4 shirts.  At this level, the firm is making a loss (profit is negative). To decide whether to shut down or continue to operate at a loss, we need to examine and compare the TR and Total variable cost (TVC). 

If the TR is greater than the TVC, then it should operate. The firm is better off producing in the short run, because it will still incur fixed costs greater than the loss. 

If TR < TVC, it should shut down.

So, this firm has paid its fixed costs of $17 and because it is fixed it cannot get it back. It pays $13 in variable costs. This is how much it pays for workers salaries, buying of the cloth to make the shirts, etc. TC is the sum of the two = $30. But TR is just $16. So profit is -$14. Since FC is already paid, it does not factor into decision making. It is a sunk cost. Whether the firm produces or not, it still has to pay the FC of $17. But if it produces, it will have to pay $13 in VC. Notice that TR is $16. So it gets $16 - $13 = $3 if it produces. It can use this $3 to pay off part of the $17 FC. If it had shut down, it won’t be able to get the $3 

Total revenue will exceed variable cost if the price exceeds the Total variable cost.

The firm should continue to operate if price exceeds the Total variable cost; otherwise, it should shut down.

If TR > TVC, operate

We know that TR = P*Q and TVC= AVC*Q

In other words, if P * Q > AVC *Q, operate 

Therefore, if P > AVC, operate

Similarly, if TR < TVC, shut down

Or if P < AVC, shut down


Operate if price > average variable cost

Shut down if price < average variable cost
Here’s an example 
Graphical Illustration of the problem
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From the data given in this assignment, we can figure out:

Price of the good, P = ?

Output per day, Q = ?

TVC = ? (add up all variable costs involved)

AVC = TVC/Q

From the Rule, we know that if P > AVC, continue in the short run.

But if P < AVC, shut down in the short run.

Alternatively, you could compare TR and TVC

TR = P * Q = ?

TVC = ?

If TR > TVC, continue in the short run.

But if TR < TVC, shut down immediately.

So you see that you don’t even need to know what the FC (Fixed Cost) is to be able to answer this question. FC is a sunk cost and it does not factor into decision making. It’s like crying over spilt milk!!!
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